Questions 1 and 2 are gridded response items that require you to write your
answers in the boxes provided on your answer sheetf. Write only one number or
symbol in each box and fill in the circle in each column:that matches what: you
have printed. Fill in only one circle in each column.

1 . What is the _.w3m=._am_. when x3 - 1 is divided by (x + 23?
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The graph of the function m(x) = x* + 3x2 - 2x '~ 4 has a zero at ~1. What are the

&m_‘ zeros of the function?
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5 This is a paper/pencil copy of an online technology enhanced item.
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8 The graph of an equation is shown below.
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9 Martha can paint a room in 2 hours. Jamie can paint the same room in 6 hours.
How long, to the nearest tenth of an hour, wil it take them to paint the room
together? ’
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Which choice is equivalent to the expression shown below?

, _ A The graph of f(x} is shifted _._n., .Iu .ﬁ\cS.w‘ V H
3(4x2 - 9y)(4x% - 9y) : . : In
M 2 — 9 (a2 4 89) uxﬁ_ 5 .XN,I. w. N& m.u O_ _.ﬂ.ﬂmﬁmbhm O.wm B The graph of f(x} is shifted down. \
c 3Ix(4x - Oy)(dx - 9y) .TQ { -ﬁm& hwﬁ Eh;m @ The mmmu: of f(x) is stretched vertically. 3@%5% <m\\\rni
@ Sx(dx l.m_\u?x.+ o) mxm\r.x m\max, {1 /J\ D  The graph of f{x) is stretched horizontally. MI_J\.N\g

s | Q.as w@s&&j 473 x,w/ |
R . : 14  Two piecewise functions are shown below.
A polynomial, p(x), has a lead coefficient of 1 and xm%&.m?ﬂmm distinct zeros.
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O:mm.m,o... 15isa m..mnmmn.\_.mm_um:m,m item that requires you to write your answer

=16 Thisisa paper/pencil copy of an online technology enhanced item.
in the boxes provided on your ansiver sheet. Write only one number or symbol .

in each box and fill in the circle in ‘éach column that matches what you have
printed. Fill in only one circie in each column.
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What is the value of h(~4) + 3p(-2)?

The graph of a function Is shows below.
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Question 17 is a gridded response item that requires you to write your answer
in the boxes provided on your answer sheet. Write only one number or symbol
in each box and fill in the circle in each column that matches what you have
printed. Fill in only one circle in each column.

17 A function is shown below.
H(x) = 4x3 - 5x2 - 23x + 6

What is the distance, to the nearest hundredth of a ::; _umgmm_.. the two zeros
that are closest no each other?
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s:.__n: function does mot have the set of all real numbers as its domain?
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D  f(x) = cos(x) +1 ﬁ\%\%w

An equation is shown below.
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20 ,;._.sm diagram beilow shows an angle, 8, u_.mn:mn_ in the xx.nooam:mnm plane.
Segment RT is the initial side of the angle, and segment RM is the terminal side
Segments RT and RM are radii of the unit circle centered at the origin R{0, 0).
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Thisis a _umvm,.\vm:n: nou,x of an online technology enhanced ;mECQ-
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The vertices of a triangle are at (0, 0), (6, 6), and (9, 3). What is the volume, i
cubic units, of the figure created by rotating the triangle about y = x?.. .

CorE Se3 N=Rweh -
© i Lo rE?

[T

Question 23 is a gridded response item that requires you to write your answer
in the boxes provided on your answer sheet. Write only one number or symbol
in each box and fill in the circle in each column that matches what you have
printed. Fill in only one circle in each column.

23. In parallefogram MNPT, m«<M = (6x + 10F and mzN = (5x + 10.5¢. How many
degreesis £77? )
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In rectangle FGHI, diagonals FH and @I intersect at E.
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What is the length of FH ?
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Nmérmnmm.n_._m_m:ow:quﬂmn_cmo::mn_qn_m _‘mu_.mmm:nmaw,::mmncmqo: 29 This is a paper/pencil copy of an online technology enhanced item.
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e - . ™A high school rendomly selected 75 of the 200 seniers at the scheoo! to take a sample coliege entrance

> 2 units g _ ‘ o Pml exam, The mean grade point average (GPA) of the seniors selected was 2.85, and the standard deviation
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B 4 units {

) : ' Eo»m _sm_,m_: of error = 2L <.| » where s is the standard deviation and # is the sample size.)
C 8 units - '
.d X + — N “ - =" ,.,.Ji.,,

D 16 units k w

7( o
14 =0 = N The margin of error would decrease if the mm_.:v_m siza were changed to 125 nms_oJu.U
" The margin of error would increase if the sample size were changed to me mm:_o_m

Selected:
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specific road.
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30  The police chief of a town is trying to determine the average speed of drivers on a gpﬁ@mb &w.@i _»\\ M \ \ 100 - D. m

- The police chief took a random sample of the speeds of 100 drivers on
the road.

. The mean was 48.5 miles per hour, with a standard deviation of 2.5
miles per hour.

. The police chief wanted to decrease the margin of error of his next
sample.

Which choice would decrease the margin of error?
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decreasing the sample size

A
o o increasing the sample size
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changing the time that the:d: ta iSkollected

changing the road on whic m.& is collected

This is the end of the NC Math 3 released items.
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